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QUESTION 1

A large multi-national bank is using SOA to transform their payment system to support new business models such as
cross border treasury functions. The current system is a complex mix of payment types and rules used in each country,
interacting with a variety of services to complete a payment. Which portion of the SOA Foundation is central to the
transformation of this system? 

A. Partner Services 

B. Process Services 

C. Interaction Services 

D. Information Services 

E. Access Services 

Correct Answer: B 

 

QUESTION 2

Which statement about SOA service design is true? 

A. Statefulness is desirable as it implies that the service provider holds parameters in memory between invocations
avoiding data communication costs. 

B. Loose coupling implies that services should be designed using standardized interfaces and open standards. 

C. Service granularity implies the service must have the smallest amount of functionality in the subsystem. 

D. Encapsulation implies that services should hide the implementation details from their interface design. 

Correct Answer: D 

 

QUESTION 3

How can a designer most effectively integrate components developed in various technologies at different companies
into a composite application within an SOA? 

A. Through careful coordination to ensure compatible interfaces 

B. Through the use of industry standards such as SOAP over HTTPS 

C. By placing the components in a service repository which will mediate the differences in their interfaces 

D. By providing code mediation and transformation functions through a business process modeling effort 

Correct Answer: B 

 

C2160-667 PDF Dumps | C2160-667 VCE Dumps | C2160-667 Braindumps                                2 / 4

https://www.passapply.com/C2160-667.html
https://www.passapply.com/C2160-667.html
https://www.passapply.com/C2160-667.html


https://www.passapply.com/C2160-667.html
2021 Latest passapply C2160-667 PDF and VCE dumps Download

QUESTION 4

A company wishes to create a service from a legacy application that uses a simple but proprietary data format over a
TCP/IP connection. What is an advantage of creating an adapter or wrapper to enable this application as a service? 

A. The legacy application will be made more highly available through the use of an adapter. 

B. The use of standards in the adapter will enable the legacy application to be used within a business process more
easily. 

C. A wrapper will automatically generate valid XML datatypes to interoperate with all of the datatypes used by the
legacy application. 

D. A wrapper can be added to the legacy application to control the Quality of Service (QoS). 

Correct Answer: B 

 

QUESTION 5

Once a business process has been choreographed and deployed, there is an ongoing requirement to monitor the
performance of this process. In the solution there is a need to use KPI metrics which are based on services and not their
underlying components. 

Which is suitable as a service KPI? 

A. Number of service requests processed per minute 

B. Number of SOAP messages per service invocation 

C. Number of transactions processed per minute 

D. Mean size of messages sent and received per Web services operation 

Correct Answer: A 
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